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B2 B V) s B P 0

SHOKBER BB (E—-EFE T H)
28 P2 i PR &R F I8 FERE
= (B/E)

B i 1S 6-10 7.4-8.0 7.7 =
EE (mg/)) 100 <30 - 33 31.5 =
B E (mg/) 10 <2-21 2.0 =
Wi Y4E & (mel) 2000 | 247386 310 =
WAEY 4 E (mg/) 10 <0.5 <0.5 1=k
S E (mg) 0.1 <0.04 <0.04 =
BOFEREYEE (mg) 100 37 - 60 48 =
s (mg/) 20 <10 <10 =
s (mg) 0.5 <0.3 <0.3 =
BWEREMAE (mg/) 1 <0.6 <0.6 2
FHEMER (mg/) 15 <7 <7 =
LEFEE (mg) 2,000 150 - 224 199 =
ik E (me/) 200 <10- 44 29 =2
- (°C) 43 20-25 23 =
T V8 (mg/l) # ; )

EEeB

fH - (mg/l) 2 <0.4 <0.4 =
# (mg/) 5 <1 <1 =
% (me/l) 0.1 <0.1 <0.1 =
#& (mg/l) 1 <0.3 <0.3 =
#i - (mg/l) 2 <0.5 <0.5 =
$i (mg/l) 2 <1 <1 =
i (mg/l) 5 <0.2-0.24 0.22 =
7K (mg/l) 0.05 <0.05 <0.05 =
# (mg/) 2 <1 <1 =
PR (mg/l) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 =
$¥  (me/) 2 <1 <1 =
HEEEEEH## (mg/) 10 <7.0 <7.0 2
B (mg/) 5 <1 <1 =
#  (mg/l) 10 <2 <2 2
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B2
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/)) 0.01 <0.01 <0.01 =
HAEZBE (mgl) 0.01 <0.01 <0.01 =
BRI EY
T (mgl) 0.1 <0.06 <0.06 =
EHEEILEY -
1,1,1-= & Z ¥t (mg/l) 0.05 <0.025 <0.025 =
EZN
% Gk 7K & (mg/) 0.003 <0.003 <0.003 =
T 5T M A #

# MREEETHI LR YR B IRHTECRQ016 42 8 A) » MBI T - BiF
PIERESTEVE Z St A R 2ry - NI A TR -

# AEEBEECE M R 88 8 B0 B R BB R
o B




B2 B V) s B P 0
R REERBRERSE (ZE—-tE+2H)

28 122 1l IR & G R S 5 8 FERE
(e =)@ (/&)

() =+5rgE7E @
ks (kg/0.5h) 0.58 0.00 - 0.07 0.01 v
— &1 B/ (kg/0.5h) 3.86 0.00 - 1.76 0.15 v
B % (kg/0.5h) 1.16 0.00 - 0.26 0.02 v
@A E  (kg/0.5h) 0.08 0.00 0.00 v
ALY
(L = & & & s &) 7.71 0.71 - 3.97 1.64 &
(kg/0.5h)
495 M TR (ke/0.5h) 0.39 0.00 - 0.13 0.00 s
— & L% (kg/0.5h) 1.93 0.00 - 1.72 0.13 v
(z) HigE ©
ek (kg/day) 9.25 0.06 - 1.15 0.45 =
— &b (kg/day) 46.27 2.22-15.71 7.18 =
Bile (kg/day) 9.25 0.36 - 2.51 1.04 v
# b= (keg/day) 0.93 0.00 - 0.01 0.00 =
A1y
(L= & 16 & & &) 185.06 63.18 - 94.14 77.68 ys
(kg/day)
A R (kg/day) 9.25 0.00 - 0.72 0.17 s
— E /b b (kg/day) 46.27 1.07 - 13.98 6.28 s
(A)  FEAtn

S8 122 1l R & G B TFERE

(Hem )@ (B/E)

= = PN
e b et 0.93 0.066 &
wmREALEY
(ME\ L & & H) 0.73 <0.005 yss
(kg/h)
B% & (DA % 51 &) (ke/h) 1.45 0.115 e
AR E (DA R (ke/h) 0.21 <0.006 yss
B RORAEE (kg/h) 0.19 <0.006 s
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EEsBEE—E)Y:

EaeBGF —HINEE =

(kg/h) 0.0019 <0.0003 =
EE$BCE_E) ©:

il (kg/h) 0.0023 <0.0001 ye3

EuaeBEEGE _HNEE =

(ke/h) 0.019 <0.0020 TE

7K (kg/h) 0.0019 <0.0001 =

T IE B (ng/h) 2,891 30 y=3
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EiRErRZERBEYBERE (ZZ—tF+2H)

28 P22 | IR &R S8 fFafRE
ZBI/IT)
F—E o
8
e A _ =
% 1 (7K) (TR ) 122-12.6 12.4 =
30

B AN q _ _ =
FEEeE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 - 0.034 0.02 =
$E4EE (ppm) 10 <0.5-0.71 0.5 =
#i  (ppm) <0.5-3.6 1.4
#7 (ppm) <0.5 <0.5
#5  (ppm) <l1-14 1.0
¥ (ppm) <0.5-1.6 0.62
o~ 85~ 3 - Y -
# (ppm) 20 <1 <1 =
WAEY) (ppm) 10 <5 <5 =
A E (ppm) 10 <2-49 2.2 =
LY (ppm) 5 <5 <5 =
B8

H D A A
Tiéx M F %Y & 5,000 <15 <15 =
= (ppm)
H ERA < o
(ppm) 10 <5 <5 =
HIE K By 42 = o
(ppm) 2 <2 <2 =
% WK (ppm) 1 <1 <1 =
TCDD (ITEF

(DD ) 1 <1 <1 2

(ppb)




